NEW CENTURY MATHS 11
MATHEMATICS STANDARD (PATHWAY 2)

Practice paper 2

Section 1

Question 1

Out of the three cards left, the 8 and 10 are even. %

. C

Question 2

P(TTT):%X%X%:%

= C

Question 3

% error = 0.05 x100%
35.6

=0.1404...%
LA

Question 4

2194
2170

x60=60.66min

=1 hourand 1 min
.. B
Question 5

Energy used =18x6x365
=39 420
=39.42 kWh
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Question 6

Cost=780x24.25 ¢
=18915¢c

=$189.15
~ B

Question 7

Number of days =7 + 31 + 30 + 24

=92
Daily water usage = 42.7 kL
92 days
_ 42700 L
92 days
=464.13...
. C
Question 8

100%—-30% =70%
. B

Question 9

(4.2x10°)x(3.5x107%) =1.47x10"
~1.5x10*
D

Question 10

1
Expected no. green :gx100

=16.66...
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Section 2

Question 11

a i Water usage = $37.86+%$2.115
=17.90...
~17.9 kL

i Total of Jeremy’s water bill =$37.86+%$41.39+%$162.88+%$11.58+21x$1.70
=$289.41

b Azg(df+d|)

:%(16.7+32.6)+%(32.6+12.3)

=1130.4

~1130 m®
.. The approximate area is 1130 m?,

TRM

TMR

RTM

RMT

MTR

C i st seat 2nd seat  3rd seat Outcomes
R M
T
"\—\..____\_-\_
— M R
N
T 1
R =__
M T
- T—R
M<__
R —T

ii P(Max in middle) = P(TMR and

MRT

iii P(Rose left of Tiffany) = P(RTM, RMT,MRT)
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Question 12

a i Last 2 rows:

9(1+5=6|2+5=7|3+5=8|3+5=8|5+5=10|6+5=11
6|1+6=7|2+6=8|3+6=9|3+6=9|5+6=11|6+6=12

I There are 36 possible outcomes.

i Of the possible outcomes six of them are 6.

- P(6) :%

1
6
iv Of the possible outcomes 20 of them are even.

2
.. P(even) =—
(even) 3

b Need same units: 15 mm = 0.015 m.
V = Ah

=300 m*x0.015m
=45m’
=4500 L

1 m®=1000 L

12104

c Radius = =6052

Volume = §7r><60523 ~9.285x10" km®

Surface area = 47 x6052°
=4.60264...x10° km?
=4.60264x10" ha
~4.603x10" ha

© Cengage Learning Australia Pty Ltd 2017 MATHS11WS17614 www.nelsonnet.com.au



Question 13

a i A
63
51 R
49
PGH,,
K
b i =——x7r’
360
150
=" x7x18°
=424.115... m?
~ 424 m?
Cc i 1st digit 2nd digit  Outcomes
y—1 2
] =1 73
5 76
7 27
2 % 3 23
fi 26
T 37
3 =2 32
T~ 6 36"
P 67
6= 2 62
T 1 63"
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AK is the base for both triangles.
AK =63 +49+32=144

A:lbh
2

:%x144x25+%x144x51

=5472 m?

P= r+r+i><27zr
360

:18+18+@x2x7rx18
360

=36+47.12...
=83.12...cm
~ 83 cm

P(divisible by 3) = P(72, 27, 36, 63)
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